
Maths 4 

Mastery 

1. 

There is a tea urn and a teapot. The bottles next to 

them show their capacity. 

 

 

 

 

 

How much does each container hold? 

 

2. How much more water does the urn hold than the teapot? 

  

3.  

These lemonade bottles each have a capacity of 2 litres. 

One of them is ¾ full, and one of them contains ¾ of a litre of water. 

 

Which is which? 

 

 

 

 

How much water is in the bottle which is ¾ full? 

What fraction of the bottle is full in the bottle which contains ¾ of a litre? 

 

15ml 


